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1973 48 8

171 224
6400 3/s 224
3 100 1 32 224
0=1/3.6x fx rx A
3 /s f r A km
1973 48 8 32 224
224 32 6400 3/s f

6400 1/ . x fx 224/32x 4029.1

£=0.817
32 24
0.817
0.817
V=0.817x 0.224x 4029.1x 1000000 3735 7533
64 6400 3/s
1
f=0.817
224 h

3300 1/ . x 0.817x 224/hlx 1719.2
1800 1/ . x 0.817x 224/h2x 695.2
700 1/ . x 0.817x 224/h3x 182.5
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hl 26.48 h 19.63 13.25
224 3
224mm 32 26
20 13 100
1
20 30
2
4400 3/s 1981 56
2
20 30
4029 1km? 4400 2 /s 500 2 /s 3900 32 /s
1719.2km? 2000 3 /s 200 2 /s 1800 3 /s
695 . 2km? 1500 32 /s 300 2 /s 1200 2 /s
1 500 3 /s
400 3 /s 700 3 /s
200 3/s 300 3/s 500 3 /s
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1973 48 1981 56

6400 */s 32 224

4400 3* /s 32 154
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